ON SOME CONJECTURES ON THE MONOTONICITY OF SOME ARITHMETICAL SEQUENCES *

Florian Luca[†]

Centro de Ciencias Matemáticas, Universidad Nacional Autonoma de México, C.P. 58089, Morelia, Michoacán, México

Pantelimon Stănică[‡]

Naval Postgraduate School, Applied Mathematics Department Monterey, CA 93943, USA

Received: August 28, 2012; Accepted: Dec. 20, 2012

Abstract

Here, we prove some conjectures on the monotony of combinatorial and numbertheoretical sequences from a recent paper of Zhi–Wei Sun.

2010 Mathematics Subject Classification: Primary 11B65, 11B68, 05A10; Secondary 11B83.

1. Introduction

In [Sun], it was conjectured that the sequences of general term $a_{n+1}^{1/(n+1)}/a_n^{1/n}$, or $a_n^{1/n}$ are monotonically increasing (or decreasing) for all $n \ge n_0$, for a large class of sequences $\mathbf{a} = (a_n)_{n\ge 1}$ appearing in combinatorics. Three of these conjectures were confirmed recently in [HSW]. Here, we confirm eight more of these conjectures (some partially, up to an explicit starting index n_0).

For a sequence $\mathbf{u} = (u_n)_{n \ge 1}$ and a positive integer k we write

$$\Delta^{(k)}u_n = u_{n+k} - \binom{k}{1}u_{n+k-1} + \dots + (-1)^j \binom{k}{j}u_{n+k-j} + \dots + (-1)^k u_n,$$

for the *k*th iterated difference of (u_{n+k}, \ldots, u_n) .

^{*}We thank Stephan Wagner for useful correspondence and for providing us the asymptotics (4.28) and Zhi-Wei Sun for providing some references. This paper was written during a visit of P. S. to the Centro de Ciencias Matemáticas de la UNAM in Morelia in August 2012. During the preparation of this paper, F. L. was supported in part by Project PAPIIT IN104512 (UNAM), VSP N62909-12-1-4046 (Department of the US Navy, ONR) and a Marcos Moshinsky fellowship.

[†]E-mail address: fluca@matmor.unam.mx;

[‡]E-mail address: pstanica@nps.edu; Website: http://faculty.nps.edu/~pstanica

Report Documentation Page				Form Approved OMB No. 0704-0188		
Public reporting burden for the collection of information is estimated to average 1 hour per response, including the time for reviewing instructions, searching existing data sources, gathering and maintaining the data needed, and completing and reviewing the collection of information. Send comments regarding this burden estimate or any other aspect of this collection of information, including suggestions for reducing this burden, to Washington Headquarters Services, Directorate for Information Operations and Reports, 1215 Jefferson Davis Highway, Suite 1204, Arlington VA 22202-4302. Respondents should be aware that notwithstanding any other provision of law, no person shall be subject to a penalty for failing to comply with a collection of information if it does not display a currently valid OMB control number.						
1. REPORT DATE 2012	2. REPORT TYPE			3. DATES COVERED 00-00-2012 to 00-00-2012		
4. TITLE AND SUBTITLE				5a. CONTRACT NUMBER		
On Some Conjectures on the Monotonicity of Some Arithmetical Sequences				5b. GRANT NUMBER		
				5c. PROGRAM ELEMENT NUMBER		
6. AUTHOR(S)				5d. PROJECT NUMBER		
				5e. TASK NUMBER		
				5f. WORK UNIT NUMBER		
7. PERFORMING ORGANIZATION NAME(S) AND ADDRESS(ES) Naval Postgraduate School,Department of Applied Mathematics,Monterey,CA,93943				8. PERFORMING ORGANIZATION REPORT NUMBER		
9. SPONSORING/MONITORING AGENCY NAME(S) AND ADDRESS(ES)				10. SPONSOR/MONITOR'S ACRONYM(S)		
				11. SPONSOR/MONITOR'S REPORT NUMBER(S)		
12. DISTRIBUTION/AVAILABILITY STATEMENT Approved for public release; distribution unlimited						
13. SUPPLEMENTARY NOTES						
^{14. ABSTRACT} Here, we prove some conjectures on the monotony of combinatorial and number? theoretical sequences from a recent paper of Zhi?Wei Sun.						
15. SUBJECT TERMS						
16. SECURITY CLASSIFIC	17. LIMITATION OF ABSTRACT	18. NUMBER OF PAGES	19a. NAME OF RESPONSIBLE PERSON			
a. REPORT unclassified	ь. abstract unclassified	c. THIS PAGE unclassified	Same as Report (SAR)	10 10	RESTONSIBLE PERSON	

Standard Form 298 (Rev. 8-98) Prescribed by ANSI Std Z39-18

2. Bernoulli, Tangent and Euler numbers

The Bernoulli numbers B_0, B_1, B_2, \ldots are rational numbers given by

$$B_0 = 1$$
 and $\sum_{k=0}^n \binom{n+1}{k} B_k = 0$ for all $n \ge 1$,

whose exponential generating function is

$$\frac{z}{e^z - 1} = \sum_{n=0}^{\infty} \frac{B_n z^n}{n!}.$$

It is well-known that $B_{2n+1} = 0$ for all $n \ge 1$. Closely connected to the Bernoulli numbers are the Tangent numbers T_n and the Euler numbers E_n , defined by their exponential generating functions

$$\tan z = \sum_{k=0}^{\infty} (-1)^{k+1} \frac{T_{2k+1} z^{2k+1}}{(2k+1)!}, \qquad (2.1)$$

$$\sec z = \sum_{k=0}^{\infty} (-1)^k \frac{E_{2k} z^{2k}}{(2k)!}.$$
(2.2)

Thus, $E_{2k-1} = 0, T_{2k} = 0, k \ge 1$. We recall Stirling's formula

$$n! = (n/e)^n \sqrt{2\pi n} e^{\theta_n}$$
, where $\frac{1}{12n+1} < \theta_n < \frac{1}{12n}$, for all $n \ge 1$. (2.3)

Our first result gives an affirmative answer to Conjecture 2.15 and 3.5 in [Sun].

Theorem 2.1. The sequences $(|B_{2n}|^{1/n})_{n\geq 1}$, $(|T_{2n-1}|^{1/n})_{n\geq 1}$, $(|E_{2n}|^{1/n})_{n\geq 1}$ are all increasing. Furthermore, the sequences $(|B_{2n+2}|^{1/(n+1)}/|B_{2n}|^{1/n})_{n\geq 2}$, $(|T_{2n+1}|^{1/(n+1)}/|T_{2n-1}|^{1/n})_{n\geq 1}$, $(|E_{2n+2}|^{1/(n+1)}/|E_{2n}|^{1/n})_{n\geq 1}$ are decreasing.

Proof. We start with the Bernoulli numbers. We use the formula

$$|B_{2n}| = \frac{2(2n)!}{(2\pi)^{2n}}\zeta(2n)$$

Clearly,

$$\zeta(2n) = 1 + \frac{1}{2^{2n}} + \frac{1}{3^{2n}} + \dots = 1 + \eta_n,$$

where

$$\eta_n = \frac{1}{2^{2n}} \left(1 + \frac{1}{1.5^{2n}} + \frac{1}{2^{2n}} + \cdots \right)$$

$$\leq \frac{1}{2^{2n}} \left(1 + \frac{1}{1.5^{2n}} + 2(\zeta(2n) - 1) \right) \leq \frac{3}{2^{2n}}$$
(2.4)

for $n \ge 1$. Thus, putting $|B_{2n}| = \exp v_n$, we have that

$$\frac{v_n}{n} = \frac{\log\left(2(2n)!(2\pi)^{-2n}(1+\eta_n)\right)}{n} \\
= \frac{\log 2}{n} + \frac{\log(2n)!}{n} - 2\log(2\pi) + \frac{\log(1+\eta_n)}{n} \\
= \frac{\log 2}{n} + 2\log(2n) - 2 + \frac{\log(4\pi n)}{2n} + \frac{\theta_{2n}}{n} - 2\log(2\pi) + \frac{\log(1+\eta_n)}{n} \\
= 2\log n + c + \frac{\log n}{2n} + \frac{\log(16\pi)}{2n} + \frac{\theta_{2n}}{n} + \frac{\log(1+\eta_n)}{n},$$
(2.5)

where $c = 2\log 2 - 2 - 2\log(2\pi) = -2 - 2\log \pi$. Taking the first iterated difference in (2.5) above, we get

$$\begin{aligned} \Delta^{(1)}\left(\frac{v_n}{n}\right) &= \frac{v_{n+1}}{n+1} - \frac{v_n}{n} \\ &= 2\log\left(1 + \frac{1}{n}\right) + \left(\frac{\log(n+1)}{2(n+1)} - \frac{\log n}{2n}\right) - \frac{\log(16\pi)}{2n(n+1)} \\ &+ \left(\frac{\theta_{2n+2}}{n+1} - \frac{\theta_{2n}}{n}\right) + \left(\frac{\log(1+\eta_{n+1})}{n+1} - \frac{\log(1+\eta_n)}{n}\right). \end{aligned}$$

By the Intermediate Value Theorem

$$\frac{\log(n+1)}{n+1} - \frac{\log n}{n} = \frac{d}{dx} \left(\frac{\log x}{x}\right)\Big|_{x=\zeta \in [n,n+1)}$$

therefore

$$\left|\frac{\log(n+1)}{n+1} - \frac{\log n}{n}\right| < \frac{\log(n+1)}{n^2}.$$

Using the inequalities

$$\log\left(1+\frac{1}{n}\right) \ge \frac{1}{2n}$$
 for $n \ge 1$,

$$\log(1+x) \le x$$
 for all real numbers x , (2.6)

with $x = \eta_n$ and $x = \eta_{n+1}$, inequality (2.4) together with Stirling's formula (2.3), we get

$$\Delta^{(1)}\left(\frac{v_n}{n}\right) \ge \frac{1}{n} - \frac{\log(n+1)}{2n^2} - \frac{\log(16\pi)}{2n(n+1)} - \frac{1}{12n^2} - \frac{6}{2^{2n}n},$$
(2.7)

and the above expression is positive for $n \ge 3$. This proves that $|B_{2n}|^{1/n}$ is increasing for $n \ge 3$, and by hand one checks that this is in fact true for all $n \ge 1$.

Taking now the second iterated difference in (2.5), one gets

$$\Delta^{(2)}\left(\frac{v_n}{n}\right) = \left(\frac{v_{n+2}}{n+2} - \frac{v_{n+1}}{n+1}\right) - \left(\frac{v_{n+1}}{n+1} - \frac{v_n}{n}\right)$$

$$= 2\left(\log\left(1 + \frac{1}{n+1}\right) - \log\left(1 + \frac{1}{n}\right)\right)$$

$$+ \frac{1}{2}\left(\frac{\log(n+2)}{(n+2)} - \frac{2\log(n+1)}{(n+1)} + \frac{\log n}{n}\right)$$

$$+ \frac{\log(16\pi)}{n(n+1)(n+2)}$$

$$+ \left(\frac{\theta_{2n+4}}{n+2} - \frac{2\theta_{2n+2}}{n+1} + \frac{\theta_{2n}}{n}\right)$$

$$+ \left(\frac{\log(1+\eta_{n+2})}{n+2} - \frac{2\log(1+\eta_{n+1})}{n+1} + \frac{\log(1+\eta_n)}{n}\right). \quad (2.8)$$

We have

$$\log\left(1+\frac{1}{n+1}\right) - \log\left(1+\frac{1}{n}\right) = \log\left(1-\frac{1}{(n+1)^2}\right) < -\frac{1}{(n+1)^2}.$$
 (2.9)

$$\frac{\log(n+2)}{n+2} - \frac{2\log(n+1)}{n+1} + \frac{\log n}{n} = (\log n) \left(\frac{1}{n+2} - \frac{2}{n+1} + \frac{1}{n}\right) \\
+ \frac{1}{n+2}\log\left(1+\frac{2}{n}\right) - \frac{2}{n+1}\log\left(1+\frac{1}{n}\right) \\
\leq \frac{2\log n}{n(n+1)(n+2)} + \frac{2}{n(n+2)} - \frac{2}{n(n+1)} + \frac{2}{(n+1)n^2} \\
\leq \frac{2\log n+4}{n(n+1)(n+2)},$$
(2.10)

where we have used the fact that

$$x - x^2 < \log(1 + x) < x$$
 holds for all $x \in (0, 1/2)$.

Next,

$$\frac{\theta_{2n+4}}{n+2} - \frac{2\theta_{2n+2}}{n+1} + \frac{\theta_{2n}}{n} < \frac{1}{6n^2},\tag{2.11}$$

by (2.3). Further, by using inequality (2.6) with $x = \eta_n$, $x = \eta_{n+1}$, $x = \eta_{n+2}$ together with inequality (2.4), we get

$$\left|\frac{\log(1+\eta_{n+2})}{n+2} - \frac{2\log(1+\eta_{n+1})}{n+1} + \frac{\log(1+\eta_n)}{n}\right| < \frac{12}{2^{2n}n}$$
(2.12)

for $n \geq 3$. Putting all these together, we have

$$\Delta^{(2)}\left(\frac{v_n}{n}\right) \le -\frac{2}{(n+1)^2} + \frac{\log n + 2 + \log(16\pi)}{n(n+1)(n+2)} + \frac{1}{6n^2} + \frac{12}{n2^{2n}},$$
(2.13)

and this last expression is negative for $n \geq 3$. So, the sequence of general term $|B_{2n+2}|^{1/(n+1)}/|B_{2n}|^{1/n}$ is increasing for $n \geq 3$, and then one checks by hand that it is also increasing for n = 2, 3.

We next deal with the Tangent numbers. We have (see [BBD]),

$$|T_{2n-1}| = 2^{2n} (2^{2n} - 1) \frac{|B_{2n}|}{2n} = 4^{2n} \left(\frac{2(2n)!}{(2\pi)^{2n}}\right) \left(\frac{1}{2n}\right) \left(\left(1 - \frac{1}{2^{2n}}\right)\zeta(2n)\right). \quad (2.14)$$

Since

$$1 < \left(1 - \frac{1}{2^{2n}}\right)\zeta(2n) < \zeta(2n),$$

it follows by (2.4) that

$$\left(1 - \frac{1}{2^{2n}}\right)\zeta(2n) = 1 + \eta_n$$
 for some $0 < \eta_n < \frac{3}{2^{2n}}$. (2.15)

Writing $|T_{2n-1}| = \exp v_n$ and following along calculation (2.5), we get that

$$\frac{v_n}{n} = 4\log 2 + \frac{1}{n}\log\left(\frac{2(2n)!}{(2\pi)^{2n}}\right) - \frac{\log(2n)}{n} + \frac{\log(1+\eta_n)}{n}$$
$$= 2\log n + c_1 - \frac{\log n}{2n} + \frac{\log(4\pi)}{2n} + \frac{\theta_{2n}}{n} + \frac{\log(1+\eta_n)}{n}, \qquad (2.16)$$

where $c_1 = 4 \log 2 + c = 4 \log 2 - 2 - 2 \log \pi$. Comparing the last row of (2.5) with the last row of (2.16), we see that the only differences are in the value of c, the fact that the term $(\log n)/(2n)$ has now changed sign and the positive constant $\log(16\pi)$ has been replaced by the smaller positive constant $\log(4\pi)$. Following along the arguments from (2.7) and (2.8), we note that such changes do not induce any significant change in the subsequent argument and so we get that the first iterated difference of v_n/n is positive for all $n \ge 3$ and the second iterated difference of v_n/n is negative for $n \ge 4$. The remaining small values of n are checked by hand.

Regarding the Euler numbers, we use the inequality

$$\frac{4^{2n+1}(2n)!}{\pi^{2n+1}} > |E_{2n}| > \frac{4^{2n+1}(2n)!}{\pi^{2n+1}} \left(\frac{1}{1+3^{-2n-1}}\right).$$
(2.17)

Since

$$1 > \frac{1}{1+3^{-2n-1}} > 1 - \frac{1}{3^{2n+1}},$$

we can write

$$|E_{2n}| = 16^n \left(\frac{2(2n)!}{(2\pi)^{2n}}\right) \left(\frac{2}{\pi}\right) (1+\eta_n),$$

$$0 < |\eta_n| < \frac{1}{3^{2n+1}} < \frac{3}{2^{2n}}.$$
 (2.18)

where

Writing $|E_{2n}| = \exp v_n$ and following along calculation (2.5), we get that

$$\frac{v_n}{n} = 4\log 2 + \frac{1}{n}\log\left(\frac{2(2n)!}{(2\pi)^{2n}}\right) + \frac{\log(2/\pi)}{n} + \frac{\log(1+\eta_n)}{n}$$
$$= 2\log n + c_1 + \frac{\log n}{2n} + \frac{\log(64/\pi)}{2n} + \frac{\theta_{2n}}{n} + \frac{\log(1+\eta_n)}{n}.$$
 (2.19)

Since now η_n is negative, instead of (2.6) we need to use

$$|\log(1-x)| \le 2|x|$$
 for $x \in [0, 1/2]$

with $x = -\eta_n$ and $n \ge 2$. Comparing the last row of (2.5) with the last row of (2.19), we see that the only differences are in the value of c and the positive constant $\log(16\pi)$ has been replaced by the smaller positive constant $\log(64/\pi)$. So, in (2.7) and (2.13), aside from replacing $\log(16\pi)$ by $\log(64/\pi)$, also the terms $6/2^{2n}n$ and $12/2^{2n}n$ need to be replaced by their doubles $12/2^{2n}n$ and $24/2^{2n}n$, respectively. As in the case of the Tangent numbers, such changes do not induce any significant change and so we get that the first iterated difference of v_n/n is positive for all $n \ge 3$ and the second iterated difference of v_n/n is negative for $n \ge 4$, and the remaining values are checked by hand.

3. Apéry, Delannoy and Franel numbers

Let $\mathbf{r} = (r_0, r_1, \dots, r_m)$ be fixed nonnegative integers and put

$$S^{(\mathbf{r})}(n) = \sum_{k=0}^{n} \binom{n}{k}^{r_0} \binom{n+k}{k}^{r_1} \cdots \binom{n+km}{k}^{r_m} \quad \text{for} \quad n \ge 0.$$
(3.20)

In what follows, we put $r = r_0 + \cdots + r_m$. We assume that $r_0 > 0$. When $\mathbf{r} = (r)$ for some positive integer r, we get that

$$S^{(r)}(n) = \sum_{k=0}^{n} {\binom{n}{k}}^{r} = b_{n}^{(r)} \quad \text{for all} \quad n \ge 0,$$
(3.21)

where $b_n^{(1)} = 2^n$, $b_n^{(2)} = \binom{2n}{n}$ is the middle binomial coefficient, and $b_n^{(3)}$ is the Franel number. When $\mathbf{r} = (1, 1)$, we get that

$$S^{(1,1)}(n) = \sum_{k=0}^{n} {\binom{n}{k}}^2 {\binom{n+k}{k}}^2 = d_n \quad \text{for all} \quad n \ge 0,$$
(3.22)

is the central Delannoy number. When $\mathbf{r} = (2, 2)$, we get that

$$S^{(2,2)}(n) = \sum_{k=0}^{n} {\binom{n}{k}}^2 {\binom{n+k}{k}}^2 = A_n \quad \text{for all} \quad n \ge 0,$$
(3.23)

where A_n is the *n*th Apéry number. The next result answers in the affirmative the three Conjectures 3.8–3.10 from [Sun].

Theorem 3.2. For each **r** such that r > 1, there exists n_r such that the sequence $(S_{n+1}^{(\mathbf{r})})^{1/(n+1)}/(S_n^{(\mathbf{r})})^{1/n}$ is strictly decreasing for $n \ge n_{\mathbf{r}}$.

Proof. We start with McIntosh's asymptotic formula for $S^{(\mathbf{r})}(n)$ (see [Mc]).

Lemma 3.1. For each nonnegative integer p,

$$S^{(\mathbf{r})}(n) = \frac{\mu^{n+1/2}}{\sqrt{\nu(2\pi\lambda n)^{r-1}}} \left(1 + \sum_{k=1}^{p} \frac{R_k}{n^k} + O\left(\frac{1}{n^{p+1}}\right) \right),$$
(3.24)

where $0 < \lambda < 1$ is defined by

$$1 = \prod_{j=0}^{m} \left(\frac{(1+j\lambda)^j}{\lambda(1+(j-1)\lambda)^{j-1}} \right)^{r_j},$$

$$\mu = \prod_{j=0}^{m} \left(\frac{1+j\lambda}{1+(j-1)\lambda} \right)^{r_j},$$

$$\nu = \sum_{j=0}^{m} \frac{r_j}{(1+(j-1)\lambda)(1+j\lambda)},$$

and each R_k is a rational function of the exponents r_0, r_1, \ldots, r_m and λ .

Put f(n) for the function such that

$$S_n^{(\mathbf{r})} = \frac{\mu^{n+1/2}}{\sqrt{\nu(2\pi\lambda n)^{r-1}}}f(n)$$

Put $S_n^{(\mathbf{r})} = \exp v_n$. Then

$$\frac{v_n}{n} = \log \mu + \frac{c}{n} - \frac{(r-1)\log n}{2n} + \frac{\log(f(n))}{n},$$

where $c = \log(\mu^{1/2}\nu^{-1/2}(2\pi\lambda)^{(1-r)/2}).$ Thus,

$$\begin{aligned} \Delta^{(2)}\left(\frac{v_n}{n}\right) &= \frac{2c}{n(n+1)(n+2)} \\ &- \frac{(r-1)}{2}\left(\frac{\log(n+2)}{n+2} - \frac{2\log(n+1)}{n+1} + \frac{\log n}{n}\right) \\ &+ \left(\frac{\log(f(n+2))}{n+2} - \frac{2\log(f(n+1))}{n+1} + \frac{\log(f(n))}{n}\right). \end{aligned}$$

The argument from the proof of Theorem 2.1 shows that

$$\frac{\log(n+2)}{n+2} - \frac{2\log(n+1)}{n+1} + \frac{\log n}{n} = \frac{2\log n}{n(n+1)(n+2)} + O\left(\frac{1}{n^3}\right)$$
$$= \frac{2\log n}{n^3} + O\left(\frac{1}{n^3}\right).$$

Next, write

$$f(x) = 1 + \frac{R}{x} + O\left(\frac{1}{x^2}\right)$$
 (3.25)

for some rational R as in Lemma 3.1. For simplicity, put

$$g(x) = 1 + \frac{R}{x}.$$

Thus,

$$\frac{\log f(x)}{x} = \frac{\log(g(x))}{x} + O\left(\frac{1}{x^3}\right).$$
(3.26)

Furthermore, by the Intermediate Value Theorem, we have

$$\begin{aligned} \left| \Delta^{(1)} \left(\frac{\log g(m)}{m} \right) \right| &= \left| \frac{d}{dx} \left(\frac{\log g(x)}{x} \right) \right|_{x = \zeta \in [m, m+1]} \\ &= \left| \frac{\zeta g'(\zeta) / g(\zeta) + \log(g(\zeta))}{\zeta^2} \right| \\ &= O\left(\frac{1}{m^3} \right) \end{aligned}$$

for large enough positive integers m, simply by differentiating the form (3.26), and using the interval for ζ .

Further, this shows that

$$\frac{\log(f(n+2))}{n+2} - \frac{2\log(f(n+1))}{n+1} + \frac{\log(f(n))}{n} = O\left(\frac{1}{n^3}\right).$$

Hence,

$$\Delta^{(2)}\left(\frac{v_n}{n}\right) = (r-1)\frac{\log n}{n^3} + O\left(\frac{1}{n^3}\right),$$

and the above expression is positive when r > 1 for $n > n_r$, which is what we wanted to prove.

4. Motzkin numbers, Schröder numbers and Trinomial coefficients

The *n*th Motzkin number is

$$M_n = \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n}{2k} \binom{2k}{k} \frac{1}{k+1}$$

and counts the number of lattice paths from (0,0) to (n,0) which never dip below the line y = 0 and which are made up only of steps (1,0), (1,1) and (1,-1).

The *n*th Schröder number is

$$S_n = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} \frac{1}{k+1}$$

and counts the number of lattice paths form (0,0) to (n,n) with steps (1,0), (0,1) and (1,1) that never rise above the line y = x.

The *n*th trinomial coefficient Tr_n is the coefficient of x^n in the expansion of $(x^2 + x + 1)^n$. Its formula is

$$\operatorname{Tr}_{n} = \sum_{k=0}^{n} \binom{n}{k} \binom{n-k}{k}.$$

The following result gives a partial affirmative answer (up to the values of n_0) to Conjectures 3.6, 3.7 and 3.11 from [Sun].

Theorem 4.3. Each of the sequences $(M_n^{1/n})_{n \ge n_0}$, $(S_n^{1/n})_{n \ge n_0}$ and $(\operatorname{Tr}_n^{1/n})_{n \ge n_0}$ is strictly increasing while each of $(M_{n+1}^{1/(n+1)}/M_n^{1/n})_{n \ge n_0}$, $(S_{n+1}^{1/(n+1)}/S_n^{1/n})_{n \ge n_0}$ and $(\operatorname{Tr}_{n+1}^{1/(n+1)}/\operatorname{Tr}_n^{1/n})_{n \ge n_0}$ is strictly decreasing.

Proof. It is similar to the proof of Theorem 3.2 and it is based on the existence of analogues of asymptotic expansions for M_n , S_n and Tr_n to the one of Lemma 3.1 (in fact, as we have seen in the proof of Theorem 3.2, the existence of an expansion with the first two terms, as in (3.25), suffices). For example,

$$M_n = \sqrt{\frac{3}{4\pi n^3}} 3^n \left(1 - \frac{15}{16n} + \frac{505}{512n^2} - \frac{8085}{8192n^3} + \frac{505659}{524288n^4} + O\left(\frac{1}{n^5}\right) \right)$$
(4.27)

(see Example VI.3 on page 396 in [FlS]),

$$S_n = \sqrt{\frac{4+3\sqrt{2}}{4\pi n^3}} (3+2\sqrt{2})^n \left(1 - \frac{24+9\sqrt{2}}{32n} + \frac{665+360\sqrt{2}}{1024n^2} + O\left(\frac{1}{n^3}\right)\right)$$
(4.28)

(see [W1]), and

$$Tr_n = \sqrt{\frac{1+\sqrt{2}}{4\pi n}} (1+\sqrt{2})^n \left(1-\frac{3}{16n} + O\left(\frac{1}{n^2}\right)\right)$$
(4.29)

(see [W2]). We give no further details.

References

- [AbS] M. Abramowitz, I. A. Stegun, (Eds.), "Bernoulli and Euler Polynomials and the Euler-MacLaurin Formula", §23.1 in *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, 9th printing, New York: Dover, 1972.
- [BBD] J. M. Borwein, P. B. Borwein, K. Dilcher, "Pi, Euler Numbers, and Asymptotic Expansions", American Math. Monthly 96:8 (1989), 681–687.
- [FIS] P. Flajolet and R. Sedgewick, "Analytic combinatorics", Cambridge U. Press, 2009.
- [HSW] Q.-H. Hou, Z.-W. Sun, H. Wen, On monotonicity of some combinatorial sequences, Preprint, http://arxiv.org/pdf/1208.3903.
- [Mc] R. McIntosh, "An asymptotic formula for binomial sums", J. Number Theory 58 (1996), 158–172.

- [Sun] Z.-W. Sun, "Conjectures involving arithmetical sequences", Arithmetic in Shangrila (eds., S. Kanemitsu, H.-Z. Li and J.-Y. Liu), Proc. the 6th China-Japan Sem. Number Theory (Shanghai, August 15-17, 2011), World Sci., Singapore, 2013, pp. 243–257; Available at *http://arxiv.org/pdf/1208.2683*.
- [W1] S. Wagner, Personal communication, August 21, 2012.
- [W2] S. Wagner, "Asymptotics of generalized trinomial coefficients", *Preprint*, arXiv: 1205.5402v3.